
O
d
le

g
ło

ś
ci

R
z
ę
d
n
e
 is

tn
ie

ją
ce

R
z
ę
d
n
e
 p

ro
je

k
to

w
a
n
e

km
 0

+
4
8
4
,0

0

O
d
le

g
ło

ści

R
z
ę
d
n
e
 istn

ie
ją

ce

R
z
ę
d
n
e
 p

ro
je

kto
w

a
n
e

N
=

0
,9

0
W

=
2
,5

3

130,53

130,42

1
0
,5

0

130,53

130,66

1
6
,4

0

P
.P

. 1
2
8
,5

0

130,39

130,35

1
0
,5

0

3
,5

0

130,59

130,48

9
,5

5

130,52

130,66

3
,5

0

130,46

130,60

1
,0

0
1
,0

0

P
.P

. 1
2
8
,5

0

km
 0

+
4
9
0
,0

0

km
 0

+
5
0
0
,0

0

O
d
le

g
ło

ści

R
z
ę
d
n
e
 istn

ie
ją

ce

R
z
ę
d
n
e
 p

ro
je

kto
w

a
n
e

km
 0

+
4
7
5
,0

0

130,48

130,24

1
0
,5

0

3
,5

0

130,48

130,66

1
3
,5

0

130,41

130,41

3
,5

0

130,35

130,35

1
,0

0
1
,0

0

P
.P

. 1
2
8
,5

0

130,24

1
0
,5

0

O
d
le

g
ło

ś
ci

R
z
ę
d
n
e
 is

tn
ie

ją
ce

R
z
ę
d
n
e
 p

ro
je

k
to

w
a
n
e

130,54

130,43

1
0
,5

0

130,55

130,66

1
6
,4

0

P
.P

. 1
2
8
,5

0

1
0
,5

0

129,10

129,31

1
,8

5
0
,4

130,07

2
,5

0
3
,5

0
0
,1

8

130,53

130,59

130,52

130,60

130,35

2
,7

0
0
,4

1
,5

0
1
,0

0
1
,2

5

130,42130,43

130,66

1
0
,2

0

129,19

1
,9

0
0
,4

130,36

1
,2

0
2
,5

0
3
,5

0
0
,2

5

130,66

130,72

130,65

130,73

1
,3

0
130,48

W
=

6
,3

8
N

=
0
,9

3
N

=
0
,7

0
W

=
0
,2

2
H

=
2
,5

8
H

=
6
,0

8

W
=

7
,0

4
N

=
0
,0

0

H
=

8
,2

8

N
=

0
,1

9
W

=
0
,0

0
H

=
2
,5

1

N
=

0
,1

6
W

=
0
,0

0
H

=
2
,5

0

W
=

6
,9

2
N

=
0
,0

0

H
=

8
,2

8

H
=

5
,0

0

N
=

1
,5

8
W

=
0
,0

0
H

=
1
,9

4

E
ta

p
 1

E
ta

p
 2

Niweleta
chodnika

6
,0

0
0
,2

0

E
ta

p
 1

E
ta

p
 2

Niweleta
chodnika130,63

130,62

130,67
130,68

130,66

1
0
,2

0
6
,0

0
0
,2

0

130,64
130,63

130,68
130,69

E
ta

p
 1

E
ta

p
 2

Niweleta
chodnika

E
ta

p
 1

E
ta

p
 2

Niweleta
chodnika


